201 Grandin Road
Maineville, Ohio 45039
(513) 677-0500

Carrier
Tune-Up Manual

Copyright 2022 E. F. Bavis & Associates, Inc. Revised: 04/26/2022
All Right Reserved PN: 00611041






Table of Contents

CAULIONS ..ttt et ettt esbt e et esat e et e s bt e e b e e naae e 1
Bill Of MAterials .....covveeiieiieiieieeese ettt 1
SCOPE OF WOTK .ttt saee e 2
Inspection of the Captive CarTICT.........cccvieiieeiiieriieeieeiee et eeee e esiee e ereeseaeeeeens 2
Drive Tape Replacement INStrUCHIONS ........cccocvieriieriieniieniieieeeie e 3,4
Tape Preparation DIagram .........cccveeeiiiieiiiiieeiiieeeiie ettt 4
Shift Point Adjustment Procedure ...........ccceeveeviieiiieniieiieeie e 5
Red Car Installation DIiagram ...........cccceecvieoiieeiieniienieeieerie e 6
Door Adjustment Procedure .............occueeiieiiieiiieiiieiiecieee et 7
Red Car Tape Mounting Diagram...........cccccveeiieriienieeniienieeieenieeereesieeeveeeeesnneenne 8
Grey Car Tape Mounting Diagram ..........cccceeevieruieeiiienieeniienie e eveeeee e 9
Proper Tape Block DIiagram ...........ccccoecuieriiiiiiinieeiieeie e 10
Red Car Replacement Parts Diagram ..........cccccoevvieviieniiiiienieeieciceeeeee e 11
Red Car Replacement Parts LiSt ........ccccieviieiiieiiiiiiecieciiecee e 12
Red Car MaiNteNaNnCe .......cocueeveriieriieieieeieete ettt ettt be et e e 13

Grey Car MaINtNANCE ........c.eevuieeiieniieeieeriieeieesteeeteesteessteeseessseesseessseesseessneenseens 14






Do not lubricate the tape or tape track with anything. Using WD-40 or equivalents
will permanently damage the machine.

Do not remove the drive motor from the vertical tube. This manual details the proper
method for removing and replacing the drive tape.

Do not use tape to hold the brake release button down for extended periods of time.
This will cause overheating and damage to the brake.

Cautions

Use the proper screws as described in the instructions.

Install screws in all the original factory locations.

Bill of Materials
00611041 G Car Tune-Up Instructions 1
00601013 CC W/Twist Bavsonic Manual 1
02908213 Screw-In Mic Windscreen 1
04071011 CC “O” Ring 2
04088051 G Car Liner Top & Bottom 2
04167012 WG Lubricant Warning Label 1
04191011 Blue / Green Grease 1
06820191 CC Tape Cut to Length 1
04429011 Short Tape Block Screw 2
04429021 Long Tape Block Screw 2
95005071 ¥4 E Clip 2
04115011 Clear Grease - 4cc Tube |
93082723 8-32 x 2 Phillip Truss Screw 2
93042723 8-32 x %4 Phillip Truss Screw 2
92042123 6-32 x % Phillip Flat Screw 2
92042723 6-32 x Y4 Phillip Truss Screw 10
93044623 #8 x V4 Phillip Pan Screw 11




Scope of Work

For a standard tune-up, the following work needs to be done:
Inspect the machine.
Remove and replace the drive tape.
Replace worn and/or broken parts

Clean and lube where needed.

Inspection of the Captive Carrier

Inspect the machine for visible signs of damage.
Does the car travel in slow speed on the vertical, the turn sections, and the airlock?

Does the car travel in high speed in the horizontal section? If it does not, please see page
5 of this manual for instructions on how to adjust the speed shift points.

Are the ceiling trims anchored to the ceiling?
Does the car stop properly on the inside and at car and truck on the outside?
Any unusual noises?

If there is damage or problems, please consult with the factory. The telephone number is
(800) 937-3322



10.

1.

12.

13.

14.

15.

Drive Tape Replacement Instructions

. Remove the flat head screw(s) that hold the speaker panel to the customer vertical tube. Pull

down on the speaker panel. The speaker panel can hang by the speaker lead.
Go inside and send the car to the car position outside.

Open the right door of the inside vertical standoff. The door is hinged; removing the two screws
will allow the door to open.

On the front side of the tube, insert a screwdriver into a slot in the drive tape.

Press and hold the brake release button on the brake board located on the right door of the inside
vertical standoff (see page 5).

Push up on the screwdriver pushing the tape up. Observe the car outside as it lowers. Do not let
the carrier hit the island. Do this until the car disengages the drive sprocket.

Go outside and pull the drive tape completely out of the unit.

Remove the screws that attach the car to the drive tape.

Remove the “E” clips that hold the large tape block assembly in place. Remove the assembly by
twisting it diagonally in the bracket and then gently bowing the end of the bracket away from the

end of the axel until it is free.

Remove the brass wheels from the tape block assembly. The axles should be cleaned and lubed
with the blue/green grease provided.

Replace the old “O” rings with the new ones provided. Put the brass wheels back on the tape
block and make sure that the wheels spin freely.

Reassemble the tape block assembly to the car. Refer to the diagram on the bottom of the car or
on page 8 & 9 so that the tape block assembly is in the right direction. Bow the end of the
bracket and slide the tape block in diagonally until it snaps into place. Reinstall the “E” clips
provided.

Inspect the car for worn or damaged parts. If this is a red car and the doors need adjusting, please
refer to the instructions on page 7. If the liners are damaged, replace them with the ones

provided.

Use the old drive tape to measure and cut the new drive tape with a pair of diagonal cutters.

Bevel the ends of the new drive tape with a file (see the diagram below).



16

17

18

19

20

21

. Mount the car to the new drive tape. See page 8 (red car), or page 9 & 10 (grey car), on how to
do this. Make sure that the tape block holes are not stripped out. If they are, consult the factory

for new tape blocks.

. Feed the new drive tape back into the unit until you feel the drive tape stop.

. Go to the inside and press the power button of the inside control assembly on.

. Insert a screwdriver into a slot in the new drive tape.

. Press and hold the brake release button on the brake board.

. Pull down on the screwdriver feeding the tape around the drive sprocket. Continue to do this
until the car is resting on the stabilizers outside. Be careful that the car is not caught on the
speaker lead. Also, if this is a red car, make sure that the car lever is pushed in to allow the car to
be up the customer unit past the outside stabilizer (see the diagram on page 6). If you have a
problem feeding the tape into the motor surround, slide a thin screwdriver into the surround slot

22

23

24

25
26

and move the surround sprocket left to right as needed.

. Recall the car.

. Run the machine and observe for proper operation. Note: If the car started out above the stop
switches, it would not shift into high speed. Simply run the car again and it should change speed.

. Check the shift point adjustment (see page 5).

. Replace the customer speaker panel and close the right standoff door.

. If the unit does not have a lubricant warning label on the black inside vertical control, Install

the one provided with the kit.

TAPE PREPARATION

TRIM AND THEN REMOVE
BURR FROM CUT EDGES

/
>DDOOOODDDODDOOggOODDDOOOOOODO}

TAPE-CLEANING END
USE ONLY FOR CLEANING BEFORE THE NEW TAPE
IS INSTALLED, THEN RESHAPE TO FINISH END.

TAPE-FINISH END
(BOTH ENDS OF TAPE)

/
/

/



Shift Point Adjustment Procedure

1vOo3d

NNy ASVY3IHO3A OL MOD ANV
NNY ISVIHONI OL MO NdNL

anas

NI
1no

JNIL NN
V101 3N0aV O3S
0l 13S XVIN "03S G
H3INIL 900 HOLVYM

)

NNy

"3A0ON OO0r NI d33dS MOTNNY ATTNO T1IM dvD
SNOILONY1SE0 HIAHLO O MOVHL NO ONIONVH S| 3dVL HO ¥V 41 33S OL LNO ANV NI dvO NNd OL 90 3HL 3sn

'SNIAVY J0 MOOTdIV 3HL LI ON LNd NOILO3S TVINOZIJOH

JHL NI ATNO d33dS HOIH NI SI 3149V 3HL LVHL OS AYVSS303AN SV LSNravad ‘MO0 IV IHL SH3LNT 1l 340438 MOT1S

OLNI'MOVE S14IHS ¥314YVO FHL LYHL IAY3ISE0 'SNIavy ¥3NO0LSND JHL 40 LNO SANOD LI Y314V A33dS HOIH OLNI SLHIHS 1l
‘3AISNI 3HL OL 3AISLNO FHL WOHH ONITIAVHL SI §I1HEVO FHL NIHM LVHL OS 10d TIVOIY FHL 1SNrav "snidvy ¥3W0LsSNd

JHL SY3LN3 LI 340439 MOT OLNI ¥OVE SLdIHS d319dvD IHL LVHL OS 1Od HOIH 1SNrav "YO0TdIV 3HL 40 LNO S3NOD LI Y314V
d33dS HOIH OLNI SL4IHS 11 ‘3dISLNO 3HL OL IAISNI FHL WOHH ONITIAVYHL S| HII¥YVYO IHL NIHM LVHL OS LOd ANIS IHL Lsnrav
'NOILISOd ISIMMO0TO-HILNNOD TIN4 IHL OL AVM FHL TV GINYNL S1Od HOIH B “1TvO3Y ‘ANIS HLIM LHVLS ‘SINIOd L4IHS 13S OL

O |

)

440 Ol 13S STHOLIMS 1 ﬁ
HL1Og ONILLIS TVWHON | [

anas 1vo3d

HOIH

JNILY LV NdNL 8/L Lsnravy

S10d 1dIHS

z

ONILLIS HOLIMS dId

‘d3.1VAILLOVAAd S| IMVHE LVHL ONILYOIANI NO INOD

TTM TOHLNOD 3IXMVEd NO d37 'ANIHOVIN ONIDOOr 3404349
d3SS34d3A SINOLLNG 3SVYIT3Y IMVEE LVYHL FINSNI

O 110€80¥0/N/d
TOYLNOD 3NVEE 00
"00 1dvdovavd

2

xO-
sa v ea 20 ia

g

x QO+

06L-ATH

O oo
1w O

SLS-HWHX

ENNREETEREN]
Ol Hsnd

v

o

ﬁ

NO % 440 ¥3Mod

13s3¥ 0L
NO Yove
/" 3 340 N¥NL

anN3s

<

N

ATINO V3dV SIHL NI d33dS HOIH

HOIH OL MO INIOd L4IHS T11v03d

HOIH OL MO1 INIOd L4IHS AN3S




Red Car Installation Diagram

Depress lever
until it contacts
the Carrier bottom
and secure it
there before
inserting tape.




Red Car Door Adjustment Procedure

HOME POSITION - LEFT TO RIGHT DOOR ADJUSTMENT:

1) Car MUST be off stabilizers, either at the customer end or off the track entirely.

2) Remove Car Cover (6 screws on side, 3 screws on top).

3) Remove door close sprir;:?_

4) Loosen, and fully back off all 4 jam nuts on each door arm. Use a 5/16” wrench on the nuts and a 1/4"
wrench on the pushrod wrench flats. See diagram for Right hand and Left hand thread positions.

5) Insert 1/8" pin into Home Position hole of the magnetic overrun assembly. Push pin thru both plastic
arms.

6) Rotate the assembly until the pin drops into the 1/8" Home Position hole. DO NOT FORCE the
mechanism or pin. If the pin does not find Home Position hole, the door arms may need to be lengthened.
;’)"\Nltlh th(El pin thru all three Home Position holes, adjust the length of the door arms until both doors are
ully closed.

8) Firmly tighten BOTH jam nuts on either end of BOTH door arms.

9) You are now ready to adjust the door travel.

HOME POSITION - DOOR TRAVEL ADJUSTMENT:

1) Install door close spring.

2) Loosen, and fully back off both jam nuts on the Master Door Pushrod. Use a 5/16" wrench on the nuts
and a 1/4" wrench on the pushrod wrench flats. See diagram for Right hand and Left hand thread
positions.

3) Turn the Master Door Pushrod in the appropriate direction to decrease its length until the Input Arm
rotates freely upward.

4) Turn the Master Door Pushrod in the opposite direction to increase its length until the lower corner of the
Input Arm contacts the back of the car body. (See diagram below)

5) Firmly tighten BOTH jam nuts on either end of the drive arm.

6) Remove Pin from Home Position holes.

7) Reinstall Car Cover.

8) Verify the doors open past 90 degrees and close fully when installed on the machine.

RH 6-32 Jam Mut

(5/16" wrench) Right Door Pushrod

RH 6-32 Jam Nut
(5/16™ wrench)

Master Door Pushrod

LH 6-32 Jam Nut
(5/16" wrench)

Left Door Pushrod

Tools
Required:
3/16” wrench
5/16” wrench
Philips: #1 & 2

1/4" Wrench Flats

LH 6-32 Jam Nut
(516" wrench)

Home Position Holes (3)

Input Arm

Door Travel Adjustment:
1) Decrease length of Master Door Pushrod

until Input Arm rotates freely upward

2) Increase length of Master Door Pushrod
until corner of Input Arm contacts
back of car body

When retightening jam nuts
ensure flat surfaces of
both rod ends are parallel



Red Car Tape Mounting Diagram

START FAR END OF NEW TAPE
INTO THE MACHINE FIRST

\

()0 D/

1 HOLE
N SHORT TAPE BLOCK SCREW

o PIN 04429011
R (#8-32 X 15/16")

23 HOLES

/ (oo

LONG TAPE BLOCK SCREW
_— PIN 04429021
o (#8-32X1-1/4")

D000

N
o \\
— @
- \ " MAGNET
5 HOLES - " {HOLE
-
-

|




Grey Car Tape Mounting Diagram

N
T O
~ TAPE BLOCK
5 HOLES =
‘ ~ |, 1HOLE
! -
~1'%
‘ X
D
~ | LONG TAPE BLOCK SCREW
= P/N 04429021
= (#8-32 X 1-1/4")
-
|
|
O
BOTTOM VIEW ~
O
-
25 HOLES -
|
O
O
O
|
O
O
O
O
— | SHORT TAPE BLOCK SCREW
| S /" PIN 04429011
@/ (#8-32 X 15/16") ]
1 HOLE é{j B ﬂ{
© N
- UNITS BUILT B
L

AFTER 4/04




Tape Block Diagram

TAPE BLOCK MUST BE INSTALLED WITH TAPE BLOCK MUST BE INSTALLED WITH

MAGNET ON OPPOSITE SIDE OF LATCH MAGNET ON OPPOSITE SIDE OF LATCH
MAGNET MAGNET

LATCH LATCH
N N

=

UNITS BUILT UNITS BUILT

BEFORE 4/04 AFTER 4/04

10



Red Car Replacement Parts Diagram

11



RED CAR REPLACEMENT PARTS

1 | 04304111 | GC right door assembly Replaces a bent right door

2 | 04382991 | GC spring pushrod upgrade kit Replaces a broken right pushrod assembly

3 | 04304121 | GC left door assembly Replaces a bent left door

4 | 04392991 | GC left door pushrod kit Replaces a broken left pushrod assembly

5 | 04317021 | GC door close spring Replaces a broken or stretched door spring

6 | 04393991 | GC magnetic over run kit Replaces a broken magnetic over run

7| 04370991 | GC master door pushrod assembly Replaces a master pushrod assembly

8 | 04367991 | Black spherical tape block kit Replaces a broken of stripped out tape block

9 | 04203991 | Large tape block kit Replaces a stripped-out tape block

10 | 04088041 | GC liner back Replaces a worn-out liner

11| 04088051 | GC liner top and bottom Replaces a worn-out liner

12 04338011 | GC ba%l top spring . Replaces a broken bail spring
04338021 | GC bail bottom spring (Order top and bottom together)

13 | 04105021 | CC hold down spring Replaces a bent or broken hold down spring

12




Sk

98]

5.

6.
7.
8.

Red Car Maintenance

With the doors open and holding on to the door open latch in, make sure that the doors
can be forced shut and then you still can open and close them with the latch.

Check the doors to make sure that they open and close past 90 degree.

Check the doors to make sure that they close all the way.

Make sure that the hold down spring is not bent or broke.

Check the bail for normal operation.

Check the brass wheels on the large tape block to make sure that the o rings are not worn
or missing.

Clean all dirt and grime from the car.

Grey Car Maintenance

. Remove the left cover from the car. Note that there are twelve screws. Replacement

screws are included in the tune-up kit. On later machines, there are undercut flat head
screws on the top and bottom. Caution: These screws must only be used on each end of
the carrier if the holes are countersunk.

Remove the right cover from the car. Note that there are two screws.

Clean the cables and lightly lubricate with the clear grease supplied.

Inspect all the parts to make sure that they are clean and working.

(Note: If any part needs to be replaced except for the large tape block, a
new red car will have to be ordered. We no longer carry replacement
parts for the grey car.)

Replace top and bottom liner if needed. You will have to cut the liners to size from the
ones provided.

Replace the covers.

Inspect to make sure that the door arms and door does not rub any of the covers.

Run the car and observe for proper operation.

13



Revisions:

ECN

Date

14






